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Rather 7o 21 said, etc. — 59191 O 29 AR NON

OVERVIEW

mooIn introduces the concept of Dpn 2 RWwn 1NAwnn that the intent of a
person to place an object in a specific place or to remove it from a specific
place renders that place a "7 21pn. Therefore, N190I1N asks, since in our MW»
there is intent to remove the object from the hand, as well as to place it in the
hand, it should be considered a "7 0pn, because of the intent. N10IN explains
that there are different levels of intent, and in order to say 12 X™Wn NI
0IPn, the intent must be exclusive.

— DONIND NIYNN TINRYNY DI 291 N9 129598 NN DNHYAN 13 PYNY 139D NYp
The X'2w9 asks why is it necessary for 739 and 7o 29 to qualify the
mwn (which does not require a "7 23pn), according to various '2axan,

implying therefore that the m1wn is not according to everyone, when they could say that
the 771wn is according to everyone -

— DYPN MY NMIYN INIVNNT (ow) x,08 97 12299997 RN P92 91D X920 NN
Since 701" 271 727 maintain in the last P99 of 192317°» that his intent suffices
to render it as a significant place of '75v '7 -

— HINVN 29N P PNYH GO 29 ONH NPT
for ney 29 said there that if he relieved himself or spit from one mwA to
another MW", he is 237 a nRWVA 1277 -

— N2'9) 71 011 13992 XY TP
And the X713 there asks on 791° 27, why is he 217, we require a '7 2p» for
an 77°pY, and in this case there is none, since the place on his body from where he
spit, etc., i.e. the mouth, etc., there is no '7 2p», so why is he 21 ?!
— D71 DY NMIVN INAYWNN 2IUN)
And the X773 answers, that his intent — that he wants to remove the spit,
etc. from this specific place in his body, his mouth, etc. - renders it as a
significant place, and therefore he is 21, because we consider the 7Py to be from a
2wn opn.

The x 11 there continues to prove its point that 21pn % XM Wwn 1N2AWIN
=991 25N WA 93 IN 295 93 PAT N YINT NN 19N NI KD INT

!9 according to 7127, and *27 according to Ao 27
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for if you will not say so, that 23p»n % X"Ww»n Nawnn then there will be a
difficulty with that which 77129 said that if he threw an object X '7 into

the mouth of a dog or into the mouth of a furnace’ he is 23711 etc., even
though the mouth of the dog is not a '7 03pn, but since he intended that it should land
there, so 2P ™% XMWwn Nawnn, the same” is true in the case of Aoy 27 that XMWwn INaAwnnA
a)[laly e

It is evident from the X3 in Py that both *7ov 21 and 7127 agree to the concept of
1P Y XMW INawnn, so let us say that in our 7Iwn also, everyone agrees (not only v
°27Y), that he is 2n, even though there was no '7 2pn Sv»n 7nImM 77°pY, nevertheless he is
21 because D1pn M7 XMW N2wnn since he intended to either take it from the hand or
place it in the hand.

ND0IN answers:
— 0P N9 NMHYN INIYNM 9INT XIT O 12%39 NP
The n'"= answers that this concept of 2p» 9% K"MW 1w -
— P PHYN 15 INN PIYA 1Y NN YT NI 1399
Applies only in a case where he is not content if it would be done in any
other manner i.e. that he wants the 7n71m 77°PY to be from a specific place
[and/or to specific place] exclusively, as in the illustration that was given by
701" 21 namely relieving oneself or spitting -
— NN AP PIIYIN PHYNY 9199 1INV
Where it is impossible for him to relieve himself or spit in any other

manner, except that it come from his mouth, etc. which is not a '7 21pn
= W52 \YN PIIYWIY IN ADON NDINIY 1INV 2DD 292 PIT 19

and the same is true in s'727 case where he threw the food into the mouth
of the dog that he wants specifically that the dog should eat it or in s'727

second case that he wants that the wood should be burnt in the furnace,
only in such limiting circumstances do we say 21pn 7°2 XMWn NWNA.

To defend this argument that the cases quoted above are only if he specifically intended
for the 1M3M 77°PY to be in a specific place only, N0 says:

— 795 19395 PRT ¥RYN NIT 295 393 NI DN 1D K

2 See "m9WwN NATOW AVIRPY" WA 92 7T 1PAY WA
? See “Thinking it Over’ #1

*In the case of Ry

> In the case of 77
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The text in 1°217°v should not read 'a%> "s2 m", “and it landed in the
mouth of the dog” for the word 'm' - ‘and it landed’ - has the
connotation that he had no intention as such, but rather it just happened to
land, and this cannot be so, for if it was not intended specifically for the dog’s mouth, the

concept of D1pn 7% ®Wwn nawnn would not apply, therefore the text reads (according to
mMooIN) 293 °52 PIT he threw it into the mouth of the dog, omitting the word 'maY'.

This is pertaining to the X713 in 1°217°Y, where 701 271 727 maintain 2P 7°% RMWn NN
— 9NN 992 IN 1172 HaPN BN WYIN 1IN NN YaN
However here in our 71wn he i.e. the "1¥ or the 1"7v2 is not particularly
concerned whether he receives’® the object in his hand or in another
receptacle, therefore the concept of 21pn % X"wn 1Nawnn does not apply in our 73wn.

mooIn anticipates the following question:
— YD NAYNNT XN NININ NN (3,0 97 1IPY 9INT NI

And concerning that which the X3 says later concerning a case where
someone threw an object and it landed in another’s hand, he is 211, the X713 asks, why is
it necessary to tell me this 17, we already know from our mwn that a person’s hand is
considered a '7 opn, to which the X3 responds: that from our 71w» one might
think that a hand is considered a '7 2171 only in a case where he considered
the [receiver’s] hand significant, meaning that he intended to place the object in
his hand, here however it merely landed in his hand, so we may think that in such a case
it is not considered a '7 01Pn, therefore 2"p that it is.

It is evident from that X313 that it considers our 71wn a case of 17°% 7awnX that he intends
to place it in his hand, and that would be the reason — in the X1’X 777 — why he is 21

— 97192 995 9NN PPI¥2 1NDAPIY NPY NNT 2) DY 9N
Even though he is equally satisfied to receive the object in another

manner not necessarily in his hand; as msoin pointed out previously, that in our
7Iwn, he is not insistent to receive it only in his hand, for if he would insist on receiving it
only in his hand, then we would say 23pn 7°% X"wn 1nawnn (and that would be sufficient
to consider it a '7 03pn), so why does the & 13 say that since 17°% 7awnR, I would think, that
is the reason that it is a good nm37, when we just stated, that in order that 72wnX should
have the power to make it a '7 2Ipn, it is only when his intent was to place it exclusively
in the hand.

% moon refers to in3, the same is true regarding the 7Py
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mooIn responds:
— 7199 7159 NAIYN DN HY 17157 MINPT 0IUN 1391
In that X713 we are already aware that a person’s hand is significant as a

place which has '7 ® '7, nevertheless in the x»x M7 we thought that when do we
say "7 ¥ 7512 m2wn 07X YW 17, only when he intended to place it in the hand (even when
the intention was not exclusive), however, when it happened to fall into a hand then it is
not '7 9y "15 2wn. The Ripon is however that '7 %¥ '3 1% 72wn 278 Hw 17> always, even
when there is no intent at all, it just fell into the hand. However in our X713 we have not
yet learnt the 7 that a person’s hand is like a '7T 21pn, and we would like it to be
considered a '7 03P because Dpn 7% XMW \Nawnn, for this it is required that he insists on
receiving it in his hand exclusively, and nowhere else, which clearly is not the case.

TN 1232 79Y NN RYT NN NUN INAYNNM 7Y HWn XY 09937 INYAa YaN
However, in other situations i.e. the cases of the dog or the spitting, where
there is no "7 0p» at all — his intent cannot cause it to be a significant 01pn
unless it is a case where he is not content if it were performed in any other
manner.

SUMMARY:
DIpn 7% ®Wwn Inawnn is only when his intent is to remove it from - or place
it in - a specific place, exclusive of any other place.

THINKING IT OVER

1. How may we attempt to refute the proof from s'7127 case that X*1wn 1n2Wnn
opn % that it may not apply to s\or 21 case’ (based on the previous
nooIN)?

2. How are we to understand 21p» 7°% X W 1N2awnn in the case of Py

3. How does the concept of opn 7% X»wn nawnn differ in y17°n mooin as
opposed to Xwp NdoIN?

4. What is the explanation of the X1& M, that '7 9 '72 Y2 72Wwn QX YW 177 is
only when 17°% mawny?

7 See footnote # 3.
8 See 3 MIX HXMIX nMIn.
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